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1. To find the value of load resistor R for maximum power transferring as shown in Fig. 1. (20%)
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Fig. 1.
2. To find the output voltage Vo in Fig. 2; assume that the operational amplifier is ideal. (20%)
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Fig. 2.
3. As shown in Fig. 3; to determine the value of C if the energy stored in the capacitor equals the energy

stored in the inductor L (L=0.1H). (Hint: steady state) (20%)

C
i 1000
250 O

12v C?.’D }m H

Fig. 3.
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4. To quantitatively describe the output voltage Uo(t) for t > 0 in the circuit in Fig. 4. (20%)
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Fig. 4.
5. To find the electric current lo in the circuit in Fig. 5. (20%)
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Fig. 5.




